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ﬂloose the correct answer:

1-there is ( some —any - a ) juice.

)

2-I would like (a —an —some ) cup of coffee.
3- I don't like the soup . it's ( too — enough — many ) salty.

4- the tea is hot ( too — enough —much ) . I can drink it.

JOWnvIhH )

5-there are too ( many — much — enough ) apples.

(—there is ( too much — too many — to ) pasta in my plate

Do as shown between brackets.

|

1-Omar has too much friends ( correct)
2-1 don’t have too time todomy H.W . ............. ( correct)
3- Ahmad eats a orange . ............. ( correct)
4- are there some eggs ? ............. ( correct)

5- there is some milk . ( make a question)
(reader)

(‘answer)

Js there any ice cream?

|

Ice cream

Potatoes

Find out the odd words

1- water  juice salad

2-chesscake pasta  ice cream

Write the missing letters

[ vocabulary ]

[ San_wich ]
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